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I7E-#E R g = RETHE| HEM k=
<EFUET >

T A7)l MEERR 265+ 950+ 250+ 250+ 16.90+ 2.65= 36.70 36.7 37

SRR U BT t=15cmLLF m

TEWTER T BT K BRI RR

70.60 + 1.52 % 250 - 0.60 * 500 = 71.40 11.4 A

S R TE A HEWET m2
SRR, HBHIEA 7.4 x  0.05= 3.6 3.6 ]

BIE INREE 14 9kmLA T m3
3.6 3.6 4

nonE FAI7IL AR m3
( 060 * 050 - 0.30 * 035 )* 500= 0.98 1.0 1

BEYEY ZhL mOEEY AT m3
91— R 0.98 1.0 1

ST Sy H B (2t AH 14. 9km m3
0.98 1.0 1

non g |y )— iR m3
0.08 * 1.67 / 250 % 1.00 = 0.05 0.1 0.1

BEYEY ZhL HEEY AhET m3
91— R 0. 05 0.1 0.1

ST Sy H Bk (2t AH 14. 9km m3
0.05 0.1 0.1
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<xtxI> HHTER R ToSiEsE TS5 #EE
84.90 + 2.50-  1.50 + 86. 1 86
RiEY INRAE m3
TEWTER R
50.20 +  1.10 - 0.5 = 50. 8 51
HEREL INRAE m3
T8 50. 80 50. 8 51
B R~ REE~HIG m3
T8 86.10 *  0.90 - 50.8 = 26.7 27
B i~ 05015 m3
26.70 26.7 2]
[t %) T8 m3
<#EBEHMI>
1.0 1.0 1
EhERET H1800 =
5.0 5.0 5
EMT KR T 300%300 m
0.7 0.7 1
K& T 300%300 m
04+ 04 = 0.8 0.8 1
EELTDST m2
<fHEEIRT>
1B 100mm 42.70 - 0.52%  1.56 +( 44.0 44.0
PR AR PSR EAA M-30) m2
HEME 28.10 - 1.22%  0.94 +( 28.0 28.0
REEREIE # B4 (M=-30) F9t=3cm m2
HiE - BBESS 1.4mlE 70.60 -  0.52 %  2.50 +( 71.8 71.8
== BAZHRIEEAS (13) t=5cm m2
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Rz HEL
DU XfEWE | v m | FYH | 2 B | HE|FEFYH| L B|wHBaE|FEYH| L Wrm | F ¥ | i
Wi Br T W BT T
No.0 0.00 0.00
+ 0.00
No.0 3.40 1.70 0.9 1.80 0.90 0.5
+ 0.54 0.54
No.0 2.80 3.10 13.8 1.80 1.80 8.0
+ 5.00 4.46
No.0 3.10 2.95 14.8 1.90 1.85 9.3
+ 10.00 5.00
No.1 3.10 3.10 31.0 1.80 1.85 18.5
10.00
No.1 3.10 3.10 15.5 1.80 1.80 9.0
+ 5.00 5.00
No.1 3.40 3.25 8.0 1.80 1.80 44
7.46 2.46
No.1 0.00 1.70 0.9 0.00 0.90 0.5
+ 8.00 0.54
28.0 84.9 50.2
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B = X Fi 26 g | T | F R|EBE|EFYH| ¥ B|IRBE|FEFY|TF BE|RBE|FETH| F B
e 8 " 8 e 8 B 8
No.0 2.65 0.50 2.15 2.65
+ 0.00
No.0 2.65 2.65 1.4 1.56 1.03 0.6 1.09 1.62 0.9 2.65 2.65 1.4
+ 0.54 0.54
No.0 2.50 2.58 11.5 1.54 1.55 6.9 0.96 1.03 4.6 2.50 2.58 115
+ 5.00 4.46
No.0 2.50 2.50 12.5 1.54 1.54 7.7 0.96 0.96 4.8 2.50 2.50 12.5
+ 10.00 5.00
No.1 2.50 2.50 25.0 1.54 1.54 15.4 0.96 0.96 9.6 2.50 2.50 250
10.00
No.1 2.50 2.50 12.5 1.54 1.54 7.7 0.96 0.96 4.8 2.50 2.50 12.5
+ 5.00 5.00
No.1 2.65 2.58 6.3 1.58 1.56 3.8 1.07 1.02 2.5 2.65 2.58 6.3
7.46 2.46
No.1 2.65 2.65 1.4 0.50 1.04 0.6 2.15 1.61 0.9 2.65 2.65 1.4
+ 8.00 0.54
28.0 70.6 42.7 28.1 70.6
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18-8-40BB |(( 0.400 + 0.750 )/ 2.000 * 1400 + 1.050 * 0.400 )*( 26.780
+ 25700 )/ 2000 = 32.14
HEEKERMEED
2] i3 0300 * 0.395 * 0400 + 052 * 0515 * 0.130 / 2.000
= 0.06
& 3214 - 006 = 3208 m3 32.1
iy oA ( 1400 + 1400 * 1.031 + 0400 * 2.000 )*( 26.780 + 25.700
)/ 2.000 = 95.60
HEEKERMEED
2] i3 0300 * 0.395 + 0520 * 0515 * 1031 = 0.39
KRR EO 0395 * 0400 * 2000 = 0.32
Hi 9560 - 039 + 032 = 9553 m2 95.5
KikEE
Vu ¢ 50 1.400 *( 26.780 + 25939 )/ 2.000 / 2000 = 19.00
1900 * 058 = 11.02 m 11.0
% LRS IE 44
¢ 50F 19.00 & 19.0
B fE B #thit
EEZR10mm (C 0400 + 0750 )/ 2.000 * 1400 + 1.050 * 0400 )* 3.00
= 3.68 m2 3.7
FEMKIRT
& % F A R A1 ;B W300 10m L)
I3 = EN R = E=
& R g AR
W300 10.00 / 1= 10.00 & 10.00
B o)—k
18-8-40BB 062 * 015 * 1000 = 093 m3 0.93
BLER 015 * 200 * 1000 = 3.00 m2 3.00
EhR
JL—F25 10.00 / 1= 10.00 ® 10.00
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BRI 59—k
18-8-40BB [( 060 * 045- 030 * 0.30 )* 1000 = 1.80 m3 1.8
iy ed
INEY 045 * 400 10.00 = 18.00 m2 18.0
HEa29)—k
18-8-40BB 070 * 0.15% 1000 = 1.05 m3 1.1
iy ed

BL 0.15 * 200 * 10.00 = 3.00 m2 30




